H & 0l & AHS B Ml A

SA ARSI
3 ARIY Hsgg Hat
el TH2el A = (SH9 H2)
SA - ZE - BR(30) - HRA - B of v e HIDE2
N=IPN L= 1,159,445 762,677 396,768
= 377,500
e 97,000
= 684,945
AR THE CHEHE 23t 857,850 408,598 449,252
= 377,500
EN 97,000
= 383,350
THEH22 MK = 857,850 408,598 449,252
= 377,500
e 97,000
= 383,350
MHerorE QIZEHEMA 25 12,100 9,565 2,535
201 2= 8,500 7,000 1,500
01 AtR2t2lt] 8,500 7,000 1,500
Ot ae| SRS 29 8,500
203 HR=H| 3,600 2,565 1,035
03 A=A FAIH| 3,600 2,565 1,035
OMHsS g2Fa 3,600
goce sysgad Nd 50,000 56,648 6,648
= 25,000
= 25,000
201 et 3| 50,000 56,648 N\6,648
= 25,000
= 25,000
03 A2 I 50,000 56,648 6,648
OMHE dgt=E(E) 50,000
= 25,000
=S 25,000
Jlzttel SydsSEed A2 48,750 50,385 21,635
= 37,500
< 11,250
308 AXIHSOIA 48,750 50,385 21,635
= 37,500
= 11,250
01 AXEH B EES 48,750 50,385 1,635
OMHUHS AHE=EH(AIZ) 48,750
= 37,500
= 11,250
ARIHHOS & UHled 20,000 17,000 3,000
201 er23| 20,000 17,000 3,000
01 At2teltl 20,000 17,000 3,000




SA: AR

= ABITL (ot
el THHZe MM 2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

| OAslndiis=T 2 tbiEs & 20,000

Wetibl EstSE = 45,000 45,000 0
A 45,000

308 XX/ EHHISOI & 45,000 45,000 0
S 45,000

01 XXM Z AR T 45,000 45,000 0
OmLHTiEl E8TISE (AT) 45,000
A 45,000

etors HESIS 28 22,000 22,000 0
A 22,000

201 Lere ety 18,800 18,800 0
A 18,800

01 AFR 22l 18,800 18,800 0
ORIzEe JisE MUY L US &S 18,800
A 18,800

301 LEreEa 3,200 3,200 0
A 3,200

11 BAIAHIXI 23 3,200 3,200 0
ORize Jisg MUY % US &= 3,200
A 3,200

LM S OHEE Lials 30,000 30,000 0
S 30,000

308 XXIEHHISOI M 30,000 30,000 0
A 30,000

01 KIXISH B L2 ES 30,000 30,000 0
OoEUms AF MY Uas 30,000
A 30,000

XIS THzRINe SEEelME 2 630,000 178,000 452,000
= 315,000
= 315,000

201 Lete ) 630,000 178,000 452,000
= 315,000
= 315,000

01 AR 22l 630,000 178,000 452,000
OX% WLH2RINE SHRALIHE 2 630,000
2 315,000
= 315,000

DI OHE 8 58,680 56,620 2,060

DIMARAE NRE 29 58,680 56,620 2,060

Heliges 9 gakn 2 58,680 56,620 2,060

201 Zere | 20,100 17,650 2,450

01 AFR22IH| 15,600 13,600 2,000
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SA: MBI

M HAPAZHI (AT D)

Sl D12l (AR KL (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
22HI(ASITH D) 74,180 71,100 3,080
J122HI (AL TH D 74,180 71,100 3,080

201 er23| 35,200 33,660 1,540
01 At2teltl 35,200 33,660 1,540
OAL2I e 22 35,200

202 048l 35,200 33,660 1,540
01 2L AL 35,200 33,660 1,540
OARI e 36,200

203 =] 3,780 3,780

M A2 ARFAI 3,780 3,780
OAF2) TH 3,780




